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N 2}EEFHA
Hu: pEsMe AE Y NBLAEH |4
el BBAYANE (SHol: @)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O22Zol&A 5= X
300,000& x12Z *13] 3,600
308 XX EHSOIA 95,527 26,352 69,175
07 IXNHMARE = 95,527 26,352 69,175
020203 HSEHIHA 2IAY (AMHIREES)
25,527,000 25,527
OMBtZ ZXH 10548 I8 KBS 28543l
W= 70,000,000& 70,000
401 Al HI K 201 I 30,000 10,000 20,000
01 A& HI 20,000 0 20,000
O2U B2 ZEE HXSA 20,000,000& 20,000
04 S AL2tE Al & HI 10,000 10,000 0
Srgtel ot 10,000, 000& 10,000
403 A X EHHSH=0IA 20,000 0 20,000
02 SO 2SO0ICHeH A2 X 2 & A I 20,000 0 20,000
OMBZ HTBH(ZEE) ZHALY
20,000,000& 20,000
I ZHHEAN SH(EX) 112,140 103,571 8,569
J| 29,600
= 13,340
Al 69,200
301 LA F 112,140 103,571 8,569
J| 29,600
< 13,340
Al 69,200
12 J|EtE4 = 112,140 103,571 8,569
OEst 228 =4 & 82 112,140,000& 112,140
J| 29,600
< 13,340
Al 69,200
HZOHHMA S (2ZHHEXNE X & E4)(A 18,000 18,000 0
ENEES
< 9,000
Al 9,000
401 AIEHI L 2 CHYI 18,000 18,000 0
< 9,000
Al 9,000
01 A& HI 18,000 18,000 0
O2ZetEXE 84X & 2= 18,000,000& 18,000
< 9,000
Al 9,000
ZHZOMUMA R F (=20 22 UHXE M) (A EA 10,000 10,000 0
o) (2x)
< 5,000
Al 5,000




2N
X ZH -
L= B

el

e Ao
Ok o fon

o

aalie o

1z o

2N
g s & NBL=EM 54
HNxE

NS

SN EB S (3H) - NEAY - BES ofl &k o San HDE2
201 Yet2 | 10,000 10,000 0
= 5,000
Al 5,000
01 At 22l bl 10,000 10,000 0
OB =2H| 10,000
o CH=0f ZZFHUXE ME  10,000,0008 10,000
< 5,000
Al 5,000
0l2sn 22 MHAE(BX) 15,000 20,000 A5,000
& 6,000
Al 9,000
401 Al B 20 HI 15,000 20,000 A5,000
= 6,000
Al 9,000
01 Al& H| 15,000 20,000 A5,000
O0l2EN &2 HHIAY 15,000,000 15,000
< 6,000
Al 9,000
HoN HEZZX SHAIYE(EX) 1,000,000 1,350,000 A 350,000
== 1,000,000
201 et A | 290,000 250,000 40,000
= 290,000
01 At 22l ] 100,000 90,000 10,000
O=E=2M 22X =E20HHE 29
60,000, 000& 60,000
& 60,000
O2ZAE Y 40,000, 000& 40,000
& 40,000
03 &AL E H| 190,000 160,000 30,000
OMd&EEZZ2 )Y 29 130,000, 000& 130,000
== 130,000
O22X 2483 x2AM2Y 60,000,000 60,000
o= 60,000
206 M = Hl 20,000 20,000 0
& 20,000
01 X2 Hl 20,000 20,000 0
oOMd&EZz ) & 20,000,000& 20,000
< 20,000
401 Al HI 2L 2 0HHI 690,000 1,080,000 390,000
= 690,000
01 Al&H| 685,653 1,076,112 A 390,459
OEHZM HEZ2ZX LAY
690,000, 000& *99.37% 685,653
& 685,653
03 A& 2 0Hb] 4,347 3,888 459




N 2}EEFHA
Hu: pEsMe AE Y NBLAEH |4
el RIRMYNE CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OH=H HEZ2ZX SEAY
690,000,000& *0.63% 4,347
= 4,347
NAZLD2SFEM(ZHIANEXE) 33,000 33,000 0
307 21201 A 33,000 33,000 0
02 It M AHE L 33,000 33,000 0
020203 NAHBLEZ3ZH(AMEBIREE)
33,000,000& 33,000
TN SS220HHE FA(BX) 10,000 0 10,000
= 3,000
Al 7,000
201 Let24d] 10,000 0 10,000
< 3,000
Al 7,000
03 A2 S HI 10,000 0 10,000
020208 S~AIZ S5 22038 =
10,000, 000& 10,000
= 3,000
Al 7,000
NA=sH 43 2,804,120 2,899,592 AN95,472
= 22,000
Al 2,782,120
Dotat =X 183,025 283,092 A 100,067
201 Let24E] 171,742 271,742 A 100,000
01 At 22l 17,742 17,742 0
O E=EH| 9,742
o 2aAX =X EE CET S MH
3,100,000& 3,100
o &E=Eotlf EXE AX 1,342,000& 1,342
o =¥E M 1,300,000 1,300
o RAESY S MH 4,000,000& 4,000
O=&l 8,000
o 24 =W 2ZETN =S4 8,000,000& 8,000
02 =224l 1,000 1,000 0
OZZ23LHA 1,000
o @i =X =EE S €5 1,000,000 1,000
03 & Ar2 Z I 153,000 253,000 A 100,000
O 4 =R 153,000, 000& 153,000
202 044l 1,283 1,350 AB7
01 S LHOIYI 1,283 1,350 AB7
OZ2ast =X =& 1,282,500 1,283
401 Al HI K 201 I 10,000 10,000 0
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2N

>

THEE=HE
Hu: pEsMe AE Y NBLAEH |4
el NEEM 24535 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OJTVE S& NEd=H 8220
10,000, 000& 10,000
202 O4dl 18,195 18,600 A 405
01 = LH 4 Hi 7,695 8,100 A 405
OXNBE=EH F2=A 3,420,000& 3,420
=H 22 =#Es Fot 85,5003 x5 «10YH 4,275
04 =Xl a0 Hl 10,500 10,500 0
OS2ZTTN ZE HATZH XY
1,500,000& *3& x 12| 4,500
02d=0 2ZH 2 NOZS
1,500,000& *4& x 12| 6,000
301 LEd = 1,500 1,500 0
12 JIEtE &= 1,500 1,500 0
OXNBEEN 73 Q2o 24
100,000& 15X 1,500
303 &3 2,000 2,000 0
01 Z2&= 2,000 2,000 0
OXNBLE=H R3323 Z4& 200,000&+10H 2,000
307 glz2tol & 2,024,720 2,024,720 0
02 LIt HAMHEE 54,720 54,720 0
0202048 ZHMABLSH JIS2el & oA=L
oA g 54,720,000 54,720
04 QIZFHALAIH 2 = 1,970,000 1,970,000 0
OHN223 ZHMANBLA=H X
1,970,000, 000& 1,970,000
401 A& HIZ 201 Y| 215,000 235,000 A20,000
04 A2t Al &I 215,000 194,280 20,720
O=H 82 2&s s28A 41X
0,000,000& =14l 20,000
OEIBBTN BE HAVZA 21 =22
=N 10,000, 000& 14! 10,000
OXEHEH 2 SUIAM(ESHEAY)
5,000,000& =14l 5,000
OXNELE=H 2 X L HSHES SAM
15,000, 000& * 14! 15,000
OXNBHE=M £ &2 =4
80,000,000& =14l 80,000
OXNBEENE 28 ANXEBS &X
20,000,000& =14 20,000
O=HZE W HII=S Hel 10,000, 000& 10,000
OHE ZIREAL HE 15,000, 000& 15,000
OZIERA 01GAIN(MERA &)
25,000,000& 25,000
O4dt=% &X 15,000, 000& 15,000
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N 2}EEFHA
Hu: pEsMe AE Y NBLAEH |4
el NEEM 24535 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ANZ0tg HE2sH(EX) 53,000 0 53,000
< 22,000
Al 31,000
307 gl2tol & 53,000 0 53,000
< 22,000
Al 31,000
04 DIZHHALALSE E X 53,000 0 53,000
O1AZ 1HE ZR25H 32,000,000& 32,000
< 12,000
Al 20,000
OX Y Esd orE=A 21,000,000 21,000
< 10,000
Al 11,000
R4 2& & 23IIBAE X4 3,489,446 2,972,831 516,615
= 748,490
J| 141,400
< 920,812
Al 1,678,744
ESFMEE 3,489,446 2,972,831 516,615
= 748,490
J| 141,400
< 920,812
Al 1,678,744
23S A2 427,633 132,786 294,847
101 @124l 28,160 28,160 0
04 DIt 22 HEE = 28,160 28,160 0
OXZEZa M F=HFH M=
88,000 * 10 8 & x4H 28,160
201 et 27,577 27,577 0
01 AIS 22l b 12,542 12,542 0
OB =+=EH| 7,107
o 23N MIIH FHx2
100,000 * 1904 A& 1,900
o SEUO ZelAl 22F 7 600,000& 600
o 2tMRAZeIFE AMRES 74
1,000, 000& 1,000
o 2SMAE MEXNE M 2,000,000& 2,000
o TStM2H AREAH P 500,000& 500
o SEUOH E=J XE 42,2003 123 507
o 2X23M A3sI P¢ 40,000 = 1504 600
023+ 3,755
o =stM&&H M2It A=Y  3,755,000& 3,755
O=gHt| 1,680,000& 1,680
02 232gHl 15,035 15,035 0




2N SEEEHA
M 23R4 BE U 23IBAL X4
CHR: 23RBS (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OZ2Z222L A 8,035,000& 8,035
O 2| 3,000
o SELHOF 22| Al LHEH| 3,000,000& 3,000
OAlE & HI KX Y| 4,000,000 4,000
202 044l 2,907 3,060 A 153
01 2L I 2,907 3,060 A 153
O2stM2e g2F8 2,907,000 2,907
206 M = H| 500 500 0
01 T2l 500 500 0
OSs T FHIJUIE MEM 2L 50,0008 500
307 QI2t0| ™ 38,489 23,489 15,000
02 A2t AAMAIE E =X 38,489 23,489 15,000
020208 NE23 S HEUHNZ2S /As ASEA
8,099,000 8,099
0223 NESSSHE A 7,290,000& 7,290
OZHMSeE=s2UEYH JIEAY 8,100,000& 8,100
02020 2 H 2He2 SI1JI0F € SWM Il A
15,000,000 15,000
401 AlEHIZL 2 0HY| 130,000 40,000 90,000
01 Al& H| 130,000 40,000 90,000
O23 M L HSAE 2SES 80,000,000 80,000
OSER3 S ANEEH L B
50,000,000 50,000
405 XHo&HF S HI 200,000 0 200,000
01 XL 2 FF S| 200,000 0 200,000
O gL EX 7 200,000,000& 200,000
HENE SMALAY SNS2(2X) 74,980 64,680 10,300
= 37,490
= 18,745
Al 18,745
401 AlEHIZL 2 0HY| 74,980 64,680 10,300
= 37,490
o= 18,745
Al 18,745
01 Al&H| 74,980 64,680 10,300
ONHEANE UTHAIAE SX 24 (2UoHAH)
7,864,000 7,864
= 3,932
& 1,966
Al 1,966
ONHEANE UTHAIAY ST E3(A2AH)
10,972,000 10,972
= 5,486
= 2,743




N 2}EEFHA
dM: BoRL BE L F2I|IBAE =4
el BB E (9 ® =)
SA - BB B () - MM - BES Ol &t o San HmEET
Al 2,743
OHEANE SUTAIAY XS4 (ZLA)
7,864,000 7,864
= 3,932
< 1,966
Al 1,966
OFSAE STHAIAE SANEX(EFAH)
9,544,000 9,544
= 4,772
< 2,386
Al 2,386
OHSNE STAAY SN S5 (H2A)
7,864,000 7,864
= 3,932
< 1,966
Al 1,966
OXSEAME BTHAIAY SNLE(EBZA)
6,772,000 6,772
= 3,386
< 1,693
Al 1,693
OHENE YTHAAY SN S5 (362)
6,856,000& 6,856
- 3,428
< 1,714
Al 1,714
OFSNE SWAAY STB2S(2HA)
7,276,000 7,276
= 3,638
< 1,819
Al 1,819
OFESALE STHAIAE SANES (L2 )
9,968,000 9,968
= 4,984
< 2,492
Al 2,492
HEME 24 FHI(2X) 700,000 600,000 100,000
= 350,000
< 175,000
Al 175,000
402 RIZER20l A 700,000 600,000 100,000
= 350,000
< 175,000
Al 175,000
02 U2 TEALEZ(0IETHR) 700,000 600,000 100,000
OSSN UEH NSE+ & QAMME=S
200,000, 000& 200,000
= 100,000
< 50,000
Al 50,000
OALA QA oHME = 140,000, 000& 140,000
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25 SHEEFHA
M 23R4 BE U 23IBAL X4
CHR: 23RBS (&2 &)
SN EHD B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
= 70,000
== 35,000
Al 35,000
OEEA(SEE 228 QAN)DE
360,000, 000& 360,000
= 180,000
== 90,000
Al 90,000
2 XYM L S22 M E4F2H N (EX) 290,000 210,000 80,000
= 183,000
= 53,500
Al 53,500
401 AlEHIZL 2 0HY| 290,000 210,000 80,000
= 183,000
= 53,500
Al 53,500
01 Al&H| 289,280 209, 100 80, 180
OLH SaA L 240l EHHE
80,000,000& *99. 10% 79,280
- 39,640
== 19,820
Al 19,820
O2ZH HELEILURE SA22 10,000,000 10,000
= 7,000
o= 1,500
Al 1,500
OZH EEe2 SHEUR sA22
5,000,000& 5,000
= 3,500
o= 750
Al 750
O2ZH SAAHAMESE2 AME LF=2)I|2%E
= 50,000, 000& 50,000
= 35,000
& 7,500
Al 7,500
O2H S4&HAF SH&EA B2 A4 30,000,000 30,000
= 21,000
& 4,500
Al 4,500
O23HHHLHEF M Y| AP (2300 &)
115,000, 000& 115,000
= 76,500
& 19,250
Al 19,250
03 A& 2 0HH| 720 900 A 180
O2ZH S&HAF L& &0 2 HXA 2l
80,000, 000& *0.90% 720
= 360
& 180




SN SHESEHA
M 23R4 BE U 23IBAL X4
el BB E (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
| Al 180
CSXNEIFMES=TH(BX) 959,550 686,934 272,616
< 479,775
Al 479,775
401 Al I 28I 759,550 646,934 112,616
< 379,775
Al 379,775
01 A& HI 759,550 643,075 116,475
ONZAL =EHFHI S A 118,000, 000& 118,000
< 59,000
Al 59,000
OZEH 28U sz 10,000, 000& 10,000
< 5,000
Al 5,000
OZS A S8UR FXl2e 13,000, 000& 13,000
< 6,500
Al 6,500
OZHAL USSR S22 10,000, 000& 10,000
= 5,000
Al 5,000
OBHE 01D &8 MO EI101 22|
15,000, 000& 15,000
< 7,500
Al 7,500
O&ste S =It01F DI 2,000,000& 2,000
< 1,000
Al 1,000
OO0l&AZ &M MO =Jt01H Il 15,000,000 15,000
< 7,500
Al 7,500
OEZEA Z=It01H D] 15,000, 000& 15,000
= 7,500
Al 7,500
ORABIZAH F=HEH A 30,900,000& 30,900
< 15,450
Al 15,450
OFALA HE =HFH SA 150,000, 000& 150,000
< 75,000
Al 75,000
O34103 FHFZH SA 60,000,000 60,000
< 30,000
Al 30,000
OZH&w W™ =HEFHHI S A 75,100,000 75,100
= 37,550
Al 37,550
O2tdstn ™ FHIH ZA
120,000, 000& 120,000
< 60,000
Al 60,000
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A S}EESHE
M 23R4 BE U 23IBAL X4
ZoFUMEE )
SN HH-S(BN) - MBAY - B il HlnE2
0O2Z = IJI=s =HEHISA 46,000,000& 46,000
< 23,000
Al 23,000
OSZ23 N U-AEB2AAAY S B2
79,550,000& 79,550
< 39,775
Al 39,775
402 RIZ2tXt20l ™ 200,000 40,000 160,000
< 100,000
Al 100,000
02 RIZt 2 AL EZ (OIS ) 200,000 40,000 160,000
OXSALE THOAE NSNS (SLA SFEA)
100,000, 000& 100,000
= 50,000
Al 50,000
OFSAZ BAANE NN (HEA BTA)
100,000, 000& 100,000
< 50,000
Al 50,000
Sl LEIM M-S (BX) 110,400 110,400 0
< 44,160
Al 66,240
301 LPEXZ 110,400 110,400 0
< 44,160
Al 66,240
12 JIEtE 43 110,400 110,400 0
OZXE R[N 23X A
93,600,000& 93,600
< 37,440
Al 56,160
O=EXE SEE3M d&+&st= 16,800,000 16,800
< 6,720
Al 10,080
SXNE LSS SHHAHI (2 E) 15,900 15,900 0
< 6,360
Al 9,540
301 getEd 3 15,900 15,900 0
< 6,360
Al 9,540
12|24 = 15,900 15,900 0
OZXE R EsHM SIHEAH 15,900,000 15,900
< 6,360
Al 9,540
wYesty 2HE(EX) 27,188 26,124 1,064
< 10,875
Al 16,313
307 glz2tol & 27,188 26,124 1,064
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2N
X ZH -
L= B

el

SsE2EHA
SR BE L 2EHIIBAL £
SRaRE

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 10,875
Al 16,313
02 IZtE M AHEE 27,188 26,124 1,064
020208 NI StN2 AN At
27,188,000& 27,188
< 10,875
Al 16,313
S oMU A X ¥ EE(EX) 212,800 212,000 800
J| 106,400
< 31,920
Al 74,480
101 @144 Hl 208,000 209,600 A1,600
J| 104,000
< 31,200
Al 72,800
03 RIAHAZZ2TE = 128,000 130, 100 A 2,100
O23M SEAHIA AL (SAAL DISHE T
S A HEZA) 128,000, 000& 128,000
J| 64,000
< 19,200
Al 44,800
04 D12t Z2XESE+ 80,000 79,500 500
O2sHM SEAHIA QAL (S4AL DISHE T
S A HEZA) 80,000, 000& 80,000
J| 40,000
< 12,000
Al 28,000
201 Let24E] 4,800 2,400 2,400
J| 2,400
< 720
Al 1,680
01 At 22l 4,800 2,400 2,400
O=23M etdAH AIR2el =8 #¢
4,800,000& 4,800
J| 2,400
= 720
Al 1,680
S AAFHA X 2 S 65,000 0 65,000
101 @124 dl 65,000 0 65,000
03 RIAHAZZ2TE = 40,000 0 40,000
O23M SEAHIA QAL (SAAL DISH T
Z HAA HEZA) 40,000,000& 40,000
04 JI2ZHHZ2XREES 25,000 0 25,000
O=23M SHEAHIA QAL (SAAL DISHE T
S A HEZA) 25,000,000& 25,000
SIARMEE(EX) 36,155 34,667 1,488
= 15,877
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N 2}EEFHA
dM: BoRL BE L F2I|IBAE =4
te: BIARMESE CEE-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 20,278
101 1244 dl 16,155 16,000 155
< 8,077
Al 8,078
04 JIZHHZ2XREES 16,155 16,000 155
OZR2 s Sgaeler 29 16,155,000& 16,155
< 8,077
Al 8,078
301 LA F 12,000 12,000 0
< 4,800
Al 7,200
12JEt 243 12,000 12,000 0
OINZ 11 ¥2s% Hs3tD NZL2Y
12,000,000& 12,000
< 4,800
Al 7,200
307 21201 A 8,000 6,667 1,333
< 3,000
Al 5,000
02 LAFAAFEX 8,000 6,667 1,333
020208 =2 23X ALY 8,000,000& 8,000
< 3,000
Al 5,000
g5 REdA 29 4,840 4,840 0
201 ¢er24l 4,840 4,840 0
01 At 22l 4,840 4,840 0
O2Et==EH| 4,840
o dAIZ 2E & HISHY 2,500,000 2,500
o EE2 M= 1,500, 000& 1,500
o0 = &l 840,000& 840
g NME 23 28 AME(EI)(EX) 82,500 46,000 36,500
= 33,000
< 14,850
Al 34,650
307 21201 A 82,500 46,000 36,500
= 33,000
< 14,850
Al 34,650
02 QB AAFEX 82,500 46,000 36,500
020208 WM S BSAHY
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